TERHE R 2B
2024 FEAFFREE /RN B FBOT 5 B RSt (A1)

e s A pirem | maim | st | e | TOL

3 *F 4130kt 1 05872 A6 1570skskskok 172 95 1 =
4 *3E 320 3kkskkckkxk 246229 A6 1806%***078 78 2 =
5 * 9 A 370 kkknrkn] 42522 A6 1516%+%x918 78 2 =
9 HH 1526%kk4435%%294310 A6 188144257 76 4 =
8 *2 H 3425%krkkakx202745 A6 188235154 75 5 =
11 * 32 50 3204skkkkxx 4273637 A6 1885%%%%098 66 6 &
2 B A% 341 2%kxkrkkx 193417 A6 1782%%%%573 48 7 &
29 KB 4T 1405%kskk454%292023 A6 1783%%%%529 38 8 &
1 75 A 321 2skkkkkkk ] 34450 A6 18364130 s &=
6 N 3206 sksoksiokkk (68024 A6 1385%*4%225 R i
7 *7 421 2xxxkkkkk 1 83214 A6 15604500 i &
10 * 3202tk ] 212X A6 1896%+%+976 R 15
12 *7E K 342 2s%kkxxx%%040839 A6 15124126 s &=
13 *{E 321 Iokoiokorokx221716 A6 1566%*++*826 R =
14 *F g 3704skkxxx%%1 92216 A6 1516%+4%]115 s &=
15 *Hh 3209kkkokrk*k266478 A6 1560%+%%328 i %
16 *F 2 321 Iskkrrxkx(074617 A6 15244906 s &=
17 * 4 3203 kkkokorokk [ 65227 A6 1805%+%%940 B %
18 * 4 342 4skkxxxx %2731 7X A6 18894125 s &=
19 *3 4T 3209tk 240890 A6 1566%5+%610 B 5
20 *35 3425%kkkkkxx] 63744 A6 13174750 s &=
21 *4F 421 2%kk545%05001 5 A6 1397545605 R 5
22 * 1 3207 skkkrkkxx(25022 A6 18354692 i &=
23 it Al 3408skskskrkx027216 A6 1885%+%608 B 5
24 *3T A 34224kckkoxkk 257220 A6 15194356 A i
25 *E 48 321 2%kkkackx276349 A6 1785%4%+063 R 15
26 * KT 3708skkkrrxx 240027 A6 19804175 i &=
27 *F F 1402%%4353535%% 201035 A6 15384457 i &=
28 * 37 230 Iskkrrrkk ] 90857 A6 1846444844 i &=




